Daté . u ot

: 41 Solve. Watch the signs! Give your answer in the simplest form.
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; 5.-%><-35-= 6.95-><%=
g: 7.%-2—3= 8.-11—2-%-%:
% 9.3 x ' 10.2 % 4=
LT %x-:}= 1_2.%-%=

13. Which one does not mean the same as the others?
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@ Solve.
14. Harvest Cereal comes in boxes of different sizes. The

regular box holds % pound. The small box holds -_.2,; as
- much. How much cereal does the small box hold?
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15. The company will soon introduce a new giant size box. It will

be 1% times as big as the regular box, which h_oids % pound: :
of cereal. How much cereal will the giant box hold? '

16. A six-pack of Harvest Cereal holds 1%— pounds.
How much does each little box hold?

17. If a bowl of cereal holds % pound, how many bowls can
you get from a regular box of Harvest Cereal, which holds % pound?

Distinguish Multiplication from Division 245
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